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Differences between the models:
Goncalves et. al. uses CGC (w. different params.):
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Three limits, in simple Glauber model:

1. Black Disk Limit (BDL) for ep and eA

2. BDL is reach for eA only

3. The colour transparency limit (far from BDL)

σdiff

σtot
=

1

2
⇒ R = 1

R > 1

R → 4BA1/3

(1.15 fm)2
≈ 8.6

Vadim’s Note
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Leading Twist Shadowing Model

Model dependent soft cs: σsoft, 3 scenarios
If  σsoft= σ2, R(LTM) =R(GBW), Eikonal scenario 

LTS: σsoft > σ2 
“LT (high)” corresponds to high shadowing scenario
“LT (low)” corresponds to low shadowing scenario
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δ = 0.79, πR2
p = 1.55 fm2

~A0.42
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